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Efficiency vs. cut on dz(PV)

5.2
: ORI ad
ERE
4 R '
5 (7]
- n
7 .
4.8 -
4 ¢
. n
i '
4.6 -
B .
. =
[ ]
1 =
4.4 —
1e
.IIIIIIIIIIIIIIIIIIIIIII.III.III.I 4'2_.I.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
mmm . 0.00.09.06.080.1.10.19.16.18.20.22
—=— DOQM mKI—II )&IIVIIHUSNUI-'U newDefaufts
—e— DOM”mKFEIt"XiMinusNOPU”NEWdefault_specPLess1
—+— DOM™mKFEit”_XiMinusNOPU”NEWdefault_specPLess2
—+— DOQM”mkFit_XiMinusNOPU_NEWdefault_specPLess3
— D M mkFlt X|M|nusNOPU NEWdefault_specPLess4

0.6

0.5

0.4




	Contents
	Page 1


